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4205+ 0.0 4207+ 0.0 4213+ 0.0 4224+ 0.0
4000k, [pr  -s6.03: 000 4000, [pr 36172000 4000, [pr 6261000 4000 & [pr  -3515:000
3500 3500 F 3500 3500
3000F 3000 F 3000 3000 F
2500 2500 F 2500 2500F
2000 2000 F 2000 2000
1500 1500 1500 1500F.
1000 _ 1000 - — 1000 _
C =27.08 [ps/ch] C = 27.65 [ps/ch] C =27.58 [ps/ch] 1000t ¢ = 28.45 [ps/ch]
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TVC (Mean) vs TP delay (c,b,ch)=(4,12,0) I 8799125 |TVC (Mean) vs TP delay (c,b,ch)=(4,12,1) I 8102/25 TVC (Mean) vs TP delay (c,b,ch)=(4,12,2) I 8283/25 TVC (Mean) vs TP delay (c,b,ch)=(4,12,3) I 8025725
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